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Candidates are required to giue their qnswer in their
own urords as far as practicable. Theirfigures in the

margin indbate full marks.

qfrHpfr qenwqq €rr+ Prdl + A sidr f r sqfu +
eiq ytfq + qldq Fr

Group - A
s{€ eT

1. Multiple choice questions : 1 x 10= 1O

T$r.Fs+ qa=T :

(i) Which of the following organization collects
every data on povertY in India ?

FF=ry q Q +t{ TII {iTdq $TRrT q rrfrft (rt
E{ }dr (ef-+..sr) qcr{ s{flr t ?

(a) MGNREGA

(b) NSSo

(c) SJSRY
(d) None of these

flE e qBr€ Tff
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(ii) The most fundamental ."orro*ic problem
is:
ETq fr Fqt gffi €nnfs rFrelr B :

(a) Scarcity

Sd.rar
(b) Health

€r€r{t
(c) Security

wHr
(d) None of these

{qq A +{ qfr
(iii)The benefit that erises from on increase

in an activity :

F fr rrRFfq q gk A ai qrd <Tr$T d %6t
Q

(a) The marginal cost
€rqrf, FTrfiT

(b) The opportunity cost
EFRI{ QI'IKI

(c) The marginal benefit
TfrITiil HFT

(d) An incentive
frdsrc{

MB-23L2



(iv) The rich should pay higher income tax

rates than the poor is an example of a :

€tffi fr rrftm d gffir q set en{T sr qt
sT uTrflq EF'FTT qtFq, {{l-s'r qs sEr6{ur B :

(a) Positive statement

€?6ttrFTE6 ESgt{

(b) Theoretical statement

AetiFrs EFeFT

(c) Normative statement

rTFf€b', EFgFT

(d) DescriPtive statement

qqftffi EFeFT

(v) By definition on inferior good is a :

qR+nqr + €ngsn qfi *{ Tq B :

(a) Normal substitute good'

TTT T€T TEIFTTq=T T€ I

(b) Goods for which demand decreases

when income increases'

Er6 T€ Frs+ Rrq €nrq {.6i qq qFr qe

qrft Br
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(c) Goods for which demand decreases
when the price rises.
q€ Tq ffi +tTn erEi w wrfr di,r
q-e wfr Br

(d) Goods that is not expressed by
demand.

Er€ re ffi ftr +ril =rfi ftt cTT

F+fr Br

(vi) which of the following is an example of
macro - economics :

fficba q a +{-€T qk erefnr*a Ebr

sqrRuT B :

(a) Prices determination

Tq trerk"T

(b) Consumer equilibrium

sqrfrffi riilr{
(c) Producer equilibrium ,)

sf,rr*r Tigeffi

(d) Inflation

grrRqfr
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(vii)Central Bank of a country is an :

ffi ter EbT #lq il-d E :

^ (a) APEX Bank (b) Rural Bank

s qt{q q-s qrfrur q-{

(c) Regional Bank (d) Commercial Bank

*fiq A-d qFrFq+ t-{
(viii)The lender of the last resort is a function

of:
eiRq *q-fl-crT zET qr4 +t{ EF'KTT } :

(a) Rural Bank (b) Post oflice

il-filT t-d stE6rl-{

(c) Central Bank (d) Commeral Bank
ffiq t+' qrFrFrd t-s

(ix) Balance. of payment account is a :

grdn Tiutr{ \r{ qror B :

(a) Systematic record of all receipts
between the residents of a country
and abroad.i tn€fuRter+ffi+ftqHfr
qrffi + qqRem Rm'rd EFTI

(b) Systematic record of all expenditures
between the residents of a country
and abroad.

sF tn tr{ Rtqr + FrqrRffi + *q
€fr ar{T + qqRQrT ffi EF'rl
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(c) Systematic record of all economic
transaction between the residents of
country and abroad.
tu1ft ter + mrq] \,tf RefW + {q
Het enRfs +{-t{ * qqRem F.fld EFr

(d) Systematic record of all economic
transactions between the residents of
a country.

fuifr ter * mrq] + +q H* enNs
+q-tq+qqRemWEDT

(x) which one of the following to the prescribe
investment limit for medium Enterprises
Development Act, 2006 ?
q,FT, qg eilr qrcrrq ssFr RrrH .:{Ff{zTq,
2006 + €ngsrr RM'T *d q qh_rft
RerlRfr Frin fiqr B r

(a) More then Rs. 1O lakhs and less than
Rs. 2 crores.

10 arcr Fq+ A eTfqs A{ 2 * fr
ESIT I

(b) More then Rs. 2 crores and less then
Rs. 5 crores.

2 +-G tqE t eTftqr €ilr s o'G t
EbTT

A
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2.

(c) More than Rs. 5 crores and less then

Rs. 10 crores

5 q'G GrTE fr qfem eTtt 10 q.G

6qq t EF-q I

(d) More then Rs. 1O crores'

10 +.G sqt t €tf*{

what is double in the estimation of notional

income ? How can it be avoided ? 5

{rsq sn{T fr sr-+.sq t ffi rlsr+IT flr B ? {sA
N qql qt Tfidr B ?

when a situation of deficit in Balance of

Payment (BOP) does arise ? 5

grdn {igd-{ q qre fr RqR EFct sFl*T +fr B'

G qse +A qqt qt {sdr A ?

Group'B
q{6 Et

4. Explain the main functions of the central Bank

of India.

$TKT + ffiq a.F + qgq filql .dt qrqt frFq1

3.

4x2O=80
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5' Explain the leading functions of Commercial
Bank.

qrFrfus qfi + qgq qrrqT +t qrcEn frFq r

6. Discuss the main features of Jharkhand
economy.

srr{cr€ qfi e+efq43n +t qgq Rrlqarefr qn Tqt
+tr

7 ' Discuss the comparative cost advantage theory.
gsflrffi aTHT dr$r ki'f, fr q-cqr dtrrq I

8. what are the major highlights of millennium
development goals in IndiJ?
$ntr q FRF{qq rsrq oeq} +1 rgq he}qdr wr
B?

9' Define Goods and service Tax in India. what
are the different types of GST ?
qrRd { Tq sf +qr o-r d qRsnRil dtrqq I T{gsi tqr o-< (csr) + Rfnr q?Fr{ wr E, -

*lnk
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